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Complete each statement,
1. In a parallelogram, opposite sides are Qcﬁgme,.n‘\‘ __and Dot o\d,\\e..\

2.In a parallelogram, consecutive angles are__gup p\@.m@xﬁgﬁjy.

3. In a parallelogram, diagonals Disect each other, which means they split each other in

2 eaus 5.

Complete each statement, using Parallelogram DCBA

4. fAD=20,thenBC=_20
5. If AB =13, then DC = \?2

6. fFDB=22 then DE=_ ||

7. fFAE=18, then AC=_3(p

8. If m2ADC = 115°, then mzABC = 115°
9. IfmsDAB = 75°, mzADC=_ |05 °

10. If mz1 =30° then mz4 = 3 09

11. fmzAED=72°, m¢DEC=_ 0%

[

12. If m2ADC= 130°, and m£1=135°, mze2=_ 15

13, FAC=30and AE=3x + 3, thenx=__ 4

2 {2y 30

bXtlo® 30
X = A
14. If DC=6x+y,BC=3x+2y, AB=25and AD=14,thenx=_ 1  andy=_ |
2 9y
2Ax 2= M 22y Maa 3CU) hay =
“a (X 4y =28) TNRXRYEIRD
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Find the value of x,
15. 16. 17.

/A 7o ]

5x - 10)

58 %
§V 1GX -5 450 =180 \

5% 148 2190 &x-10475= 180 X-2 =78
ey = 125 Bxr+ws =120 Xz "7
%= 9 Swa |15
XK= 2%

18. The perimeter of parallelogram ABCD is 184 cm. AB is 14 cm more than tl‘mce BC,. Whatisthe

leng’th;fthexicﬁlggr&des? X428 = \& Y Do :.? bl pgqqgfr g?;fcjt? {ab c,m ’
X C’f o % =[Bla
D axen X = Ao

Given: /[ / ABCD, Find x

+10 =80
19. AB=x?+11 X5Hl|=-b%¥2 20.  £ABC =80° 4 .
(D=—6x+2 2 yaqz0 £ ADC = (x + 10)° XK= "70
Cx e +42)2D
X=-3
X -
21, DE=2x+1 2%4+|= R-5%x+T 22, . DAB = 120° Ix+ 1 #1120
—_ a2 —
EB=x"~5x+7 Xi-v»‘lx-wﬁo 4 BCD = (2x + 16)° o =0y
(-t y-Nz
= (p}\

23, 2ABC=(5x—12)° SX-12+BX-3221804 AE=6x—15 & (Lx~18)z HX+80
£BCD = (8x=32)° {3y .4y =18O AC = 4x + 50 2% ~20 Z ¥ 45D

(3% = 224 By = 80
X= 172" X=10



25. Find the area of parallelogram ABCD.

Frren. :-(%as e >( W ei 9 hﬁ

scm B
. (E}Xfo) 10 cm
A= 4gem® 6 cm rem
_.I
D
AB is a midsegment, find the value of x.
26. 27. A
al2xrd)= X2 |
A(B%-10)= 2X48
UX4lp = Xe2l A )
t—— bX-267 2XAB
CNEIL n
X=7
28. 29,

) — <
X*14= 203xap)
AP oK kg

X2l X~ =0
(r=aXAx+2N=0O

6x

A

20 x>0z by
Ax* a0 =bx
ax> - Lx-20=0
ALX *=23%-10)70

o (X5 Hx+ D=0

x=8 m)){
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30. If the base angles of an isosceles triangle measure x and the vertex angle measures 2x, what
is the value of x? o
Wy =180

31. In Triangle ABC, the measure of angle A is 5 times the measure of angle B, and the
measure of angle C is 15 degrees less than nine times the measure of angle B. Find the
measure of angle A. A e

A xelas  ((£A=ES D
S AR e

X=13

32. If the midsegment of an isosceles triangle is 10 meters and each of the congruent sides of
the triangle are 11 meters, what is the measure of the side parallel to the midsegment?

Solve for x.
33. 34,

. _
- c
(x + :53/ 115° \ P 4

Xt X4 63° 465 2 \80 loX = 30
AX 194 =180 K=
CQX = ~llp
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